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PAPER 1 - FOUNDATION TIER

2015 Summer Linear Paper 1 (Non calculator)

Foundition Tier Marks Comments
Parts (i), (i) and (iii) marked together
1.(a) (i) 26 043 B1
1. (a) (ii) twenty thousand (and) fifteen Bl
1. (a) (iii) 6028 Bl F.T. 'their (a)(i) in figures — 20 015", provided equivalent
difficulty.
Accept answer in figures OR in words
1.(b) (i) 38 and 37 B1
1. (b) (ii) 23 and 40 BI1
1.(b) (iii) 49 Bl Accept 7° OR 7x7 but NOT 7
I.(c) 10000 B1 B1 for 'ten thousand' in words.
1.(d) 1,3,7, 21 B2 B1 for any 3 correct factors and up to 1 incorrect
OR B1 for 4 correct factors and 1 incorrect
Accept 1x21, 3x7
1. (e} (i) 2679 B1
1. (e) (i) 9627 Bl
2.(a) () 1 Bl
(i) ¥ OR (0).25 B1 B0 for 'Divide by 4' etc. Must be the term.
BO for 1+4, but B1 for 1/4
2. (b) 600 OR 6 hundred OR hundred (s) B1 BO for | hundred OR 100 OR 6H OR H
2. (c)(0) 66 Bl
(0) 67 Bl
33 5 . Bl Accept (0) 66, (0)-67, (0)-68 or equivalent
50° 63554455708 F.T their decimal values
2. (d) 5x10 OR 5110 OR 517 10 OR M1
52x10 ORS5x98
50, 51, 51.7,52 OR 49 Al F.T their estimates for simple calculations
SC1 for unsupported 50 only
Penalise extra working (towards actual answer) MOAO
3. (a) Value=6x7-5 Ml Correctly substituted and correct attempt to evaluate.
=37 Al e.g. 67 — 5= 6x2 (=12) gets MO, AQ.
3. (b) term number = (67 +5) /6 MI For correct substitution with addition and division
=12 Al Allow embedded references to the correct answer,
e.g. 67=12x6-35.
NOTE: If a candidate then writes "term number = 72'
award M1AQ. Their final answer must be correct.
4. (a)
A B C Bl A should be at 4. Condone use of 6 for A.
| | : | B1 B should be between 0.75 (exclusive) and 1 exclusive.
0 1 0.75 is to the right of the 'e' in 'number".
Welsh scripts: To the right of the 'y' in 'cerdyn'.
Condone use of 8 for B
Bl C should be at 1. Condone use of 5 for C.
Letters must be seen on scale (i.e. not probabilities)
4. (b) unlikely Bl C.A.O.

Award B1 3/10 AND unlikely, but B0 for 3/10 ONLY

© WIEC CBAC Ltd.




2015 Summer Linear Paper 1 (Non calculator)

Foundation Tier Marks Comments
5. (a) Sa BI
2db)- G} B2 | BI for either 35 OR ~27 OR_W =35 — 27 -8W

B0 for 35R and/or —-27T OR W =35-27T

5.(c)yis3timesx OR 'v=3timesx' OR y=3x B2 B1 for x3 OR ‘times 3’OR 'x multiplied by 3'
OR xis 1/3 timesy OR'x=1/3timesy OR x =y/3 OR Bl for +3 OR 'divide by 3'
OR (x,3x)
5..(d)((x=)4 B1 Accept embedded answers. B0 for x4
Ignore use of incorrect letter.
S5.(d)(iD(y=)12 B1 Accept embedded answers. B0 for yi12
Ignore use of incorrect letter.
5. (d) (i) (t=) 2 B1 Accept embedded answers. B0 for t2
Ignore use of incorrect letter.
To be viewed with diagram
6. (a) Missing inside segments =2 or 5 (and 3) S1 One 2 or § in correct place gets Sl
Perimeter = 6-+3+2+343+6+3+2+3+3 M1 Attempt to add all sides of the shape
FT “their 2’ for possible M1
If the 2 is not shown on diagram but is in the sum of sides
for the perimeter then award S1 here.
= 34 (cm) Al C.A.O
To be viewed with diagram You must check the diagram and their value for '2' or
!5' in their part (a)
6. (b) Area= 6x3+2x3+6x3 M1 Attempt to add all areas of the shape
OR 3x3 +3x§ +3x3 OR 4x3x3 +3x2 F.T. if missing sides (even incorrect) are clearly indicated
=42 Al
cm® Ul Independent of all other marks.
v
7. A(5,2),B (-1, -5) and C(—4, 3) plotted. B3 B1 for each. Reversed coordinates get BO every time.
Letters A,B,C not needed as long as the point is identified.
Both parts (a) — (b) marked at the same time
To be viewed with diagram
8. (a) Use overlay
POR = 44° (£2°) BI
QP = 8cm (£2mm) B1 B0 if P drawn on QR
To be viewed with diagram
If needed use the measuring tool to measure their PR
8.(b) Their PR= *7" (+2mm) Bl Their measurement in cm
PR x 10 = ‘70° (m) Bl Their measurement x 10 evaluated correctly
Allow F.T. even if P is on QR
9, 12x15%10 Ml
= 1800 (ecm’) Al
= 1.8 (litres) Bl FT 'their 1800'+1000

© WIEC CBAC Lud




2015 Summer Linear Paper 1 (Non calculator)

Foundation Tier Marks Cummments
10. (a) B2 B1 for each of 1st and 3rd quadrants
(b)
B2 B1 for at least 3 correct lines and none incorrect
v
11. (60 shirts at £8 each, 60=8 = £) 480 Bl
(Selling Price for profit of 50% = £) 12 Bl
(15 shirts at £12 = 15x12 = £) 180 Bl F.T. 'their £12' but NOT £8 for this B1 ONLY
(Reduced selling price =12 = 5= £) 7 Bl F.T. 'their £12'
(45 shirts at £7 =45 x 7 = £) 315 Bl F.T. 'their £7'
Having the (£)495 and (£)480 and stating ‘profit’ Bl Correct conclusion on their figures
OR (£)15 profit Do not penalise an incorrect evaluation of their profit
Alternative method using ‘Profit’
Considers profit on full price shirt AND loss on Si
reduced price shirt.
(Profit on one shirt = 50% of £8 = £) 4 Bl
(Profit on 15 shirts = 15 x 4 = £) 60 Bl F.T. 'their £4'
(Loss on one shirt = £5 - £4 =£) 1 Bl F.T. 'their £4°. Could also be profit of ‘(£)1’ etc
(Loss on 45 shirts =45 x £1 = £) 45 Bl F.T. 'their £1'
Having the (£)60 and (£)45 and stating ‘profit’ Bl Correct conclusion on their figures
OR (£)15 profit Do not penalise an incorrect evaluation of their profit
Look for QWC
e spelling 2

e  clarity of text explanations,
e the use of notation (watch for the use of ‘=", £
being appropriate)
QWC2: Candidates will be expected to
e  present work clearly, with words explaining
process or steps
AND
e make few if any mistakes in mathematical
form, spelling, punctuation and grammar and
include units in their final answer
QWCI: Candidates will be expected to
¢  present work clearly, with words explaining
process or steps
OR
e  make few if any mistakes in mathematical
form, spelling, punctuation and grammar and
include units in their final answer

QWC2 Presents relevant material in a coherent and logical
manner, using acceptable mathematical form, and with few
if any errors in spelling, punctuation and grammar.

QWCI Presents relevant material in a coherent and logical
manner but with some errors in use of mathematical form,
spelling, punctuation or grammar .

OR

Evident weaknesses in organisation of material but using
acceptable mathematical form, with few if any errors in
spelling, punctuation and grammar.

QWCO Evident weaknesses in organisation of

material, and errors in use of mathematical form,

spelling, punctuation and grammar.
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2015 Summer Linear Paper 1 (Non calculator)

Foundation Tier Marka Comments
Parts (a) to (b)(ii) marked together
12.(a) (Yellow, 1) Yellow,2 Yellow3 Yellow, 4 B2 B1 for a complete row OR a complete column OR any 6
Red, 1 Red, 2 Red, 3 Red, 4 extra correct
Blue, 1 Blue, 2 Blue, 3 Blue, 4 ORBlfor Y1,2.3.4 AND
R1.2,3.4 AND
B1.2,3. 4
12.(b) (i) 2/12 (ISW) OR 1/6 B2 F.T. sample space in part(a) only if at least Bl awarded,
Ignore incorrect attempts at cancelling.
B1 for the numerator of 2 in a fraction <1
OR B1 for the denominator of 12 in a fraction <1
Penalise ~1 once only for consistent use of words such as 2
out of 12”,“2 in 12” OR “2:12”.
When fraction and wrong notation seen, DO NOT penalise
wrong notation.
If incorrect reduction of fraction in (b) (i), then give the full
marks at that point, but if they go on to use the incorrect
fraction in (b) (ii), penalise —1.
12. (b) (i) There is no F.T. for the use of any probabilities outside the
range 0 to 1 inclusive OR for ¥
1/6 = 120 M1 Penalise incorrect cancelling of 2/12 here, but F.T.
=20 (people) Al 20 out of 120 gets the M1, A1 but 20/120 gets M1, A0
13.(a) (x=) 180-56—-90 OR equivalent Ml Look at diagram also, but written work takes precedence.
(x=)34(°) Al Mark final answer. Candidates who get 34 then go on to
divide by 2 to get 17 should be awarded M0.A0.
13. (b) Other angle OR in triangle ABC,
of rhombus = 180 — | M1 | angle at A = angle at C = M1 For any correct method to find y
126 = 54(°) Al | (180-126)/2 ml For correctly calculating first angle
(v =) 27(°) Al | (y=)27(%) Al For correctly calculating y on F.T.
SC2 for sight of unsupported (y=) 54(°)
v
14. For spoons: sight of 450+180 OR Mi OR 3(spoons per min) or 30(spoons in) 10 mins
sight of 450 split as 360, 90 or 180, 180, 90
(Machine stopped at) 11(:)30 (am) A2 Al for 2.5 (hours) or 2 hours 30 minutes or 150 minutes
For Al allow poor or incorrect notation of time, e.g. 2.3 hrs
For forks: 240 x2.5 OR M1 FT ‘their 2.5 hours’ or ‘their 150 minutes’
240+60 = 4 (forks per minute) and (4)* 150 or
equivalent
600 (forks) Al FT “their 2.5 hours’ provided not a whole number or ‘their

150 minutes’ provided not a multiple of 60

Alternative if the time period is not considered
(for max 3 marks):
MI for an attempt to find the multiplier1 80 x ... = 450,
e.g 18:24 and 450+18 (=25),
M1 for a final calculation that could lead to a correct
answer, e.g. applying the multiplier to the right hand side of
their ratio, for attempt 24> 430+18
Al for 600 forks
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2015 Summer Linear Paper 1 (Non calculator)

. . Marks Comments
Foundation Tier
15. (a) 1 cm represents either M1 Do not accept 4 cm represents 100 km (given in question)
25km or 25000m or 2500 000cm An answer of 1 : 25 is MO (and A0) however allow 1 : 25
km for M1
1:2 500 000 Al I : 2.5 million
Allow 1: 2 500 000cm (must be within a ratio)
15(b) 100/ 2hr 30 min or 200 km in 5 hours Mi Accept time written incorrectly, for the idea distance /time,
e.g. 100/2.3, 100/150
100 /2.5 or 200/5 mi Alternatively M1, m1 for 20km in 30 minutes
40 (km/h) Al Sight of 40 irrespective of units given
16. v
(<ECB =) 76(°) Bl Accept shown on the diagram or other indication
(<EBC =) 180(°) - 76(°) - 76(°) Ml FT ‘their 76
(=) 28(°) Al
(x=)152(°) Al FT their 28(°) provided M1 awarded
Alternatively.
(<ECB =) 76(°) BI
((x =) <BEC = 76(°) leading to ) 76(°) + 76(°) M2
FT ‘their 76°°
152(°) Al
Reasons in any order: E2
o  Alternate or allied or (co)interior All 3 appropriate reasons given
o Isosceles triangle (with angle sum 180°) El for any 2 of the 3 reasons given
e Angles on a straight line (180°) OR
exterior angle equal to the sum of the two opposite Do not accept informal descriptions of angles on parallel
interior angles OR for a 2™ time: Alternate or allied or lines
(co)interior
17. (a) Correct rotation B2 B1 for a near miss i.e. not on grid points but within the small
grid square, or for 90° clockwise rotation about (2, -1), or
for 2 vertices correct,
17. (b) Correct enlargement, scale factor 2 in correct B2 B1 for scale factor 2 enlargement but incorrect position, or
position for correct position with intention scale factor 2 with at least
2 lines drawn correctly.
n Incorrect scale factor should be marked as if correct SF then
= V4 penalise —1.
-"J
18. 180-162(=18) M1
360 + (180 - 162) ml
20 (sides) Al C.A.O.
Alternative:
n ¥ 162 =(n—2)x180 M2
OR M1 for sight of matched trials with values of n with
attempt to calculate n x 162 and (n—2)x180
n = 20 (sides) Al
19. Volume = nx4°x10 or 3x4°x10 Ml
480(cm’) Al ISW (change of units). Ignore units given for A1, but they
must be correct in order to award E1
160 7 gets M1AO
Conclusion, e.g. ‘incorrect as it is approximately (0).48 El “No’ or ‘incorrect’ may be implied. The reason must be

litres’, ‘no he is wrong it holds about 480cm’ not
5000cm’’, ‘no he is incorrect as it is 4520¢m’
difference’

showing comparison (like units), e.g. 0.48(0) (with 3 litres),
or 480 with 5000 (cm”), or 480cm’® approximately 500cm’
with 5000cm’

FT ‘their 480 (cm’)’ provided M1 awarded and ‘their 480”
has dimensionally correct units for comparison with 5 litres
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